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How difficult are the questions?
The number in each cell is the percentage of the group that got this question wrong.
A high number indicates a difficult question, a low number an easy question.Quest
ion

Year 6 Year 7 Year 8 Year 9 Year 10

Boys Girls All Boys Girls All Boys Girls All Boys Girls All Boys Girls All
1   9   10   10   9   10   10   8   9   9   8   8   8   6   7   7
2   7   5   6   6   5   6   6   4   5   5   4   5   5   4   5
3   20   16   18   21   15   18   19   13   16   17   11   14   12   9   11
4   75   77   76   74   74   74   71   70   71   66   64   65   65   62   64
5   46   46   46   47   44   46   45   43   44   45   42   44   43   40   42
6   38   35   37   40   35   38   38   30   34   35   30   33   30   26   28
7   34   35   35   36   36   36   33   32   33   30   29   30   27   29   28
8   74   76   75   72   74   73   72   71   72   69   69   69   65   68   67
9   63   59   61   62   59   61   61   58   60   58   55   57   56   55   56
10   71   75   73   70   76   73   71   74   73   68   72   70   67   71   69
11   65   64   65   64   64   64   63   61   62   61   61   61   61   62   62
12   73   73   73   73   72   73   74   71   73   73   72   73   72   72   72
13   62   64   63   56   56   56   50   48   49   46   41   44   37   33   35
14   67   66   67   68   68   68   72   71   72   73   73   73   74   76   75
15   19   17   18   18   17   18   16   13   15   14   11   13   12   11   12
16   58   60   59   60   62   61   60   61   61   57   57   57   52   55   54
17   75   73   74   74   72   73   71   69   70   68   65   67   63   63   63
18   54   48   51   56   49   53   51   41   46   44   38   41   39   33   36
19   69   75   72   67   74   71   67   73   70   64   72   68   60   71   66
20   67   64   66   67   64   66   65   65   65   66   64   65   66   64   65
21   57   57   57   57   56   57   57   54   56   55   54   55   56   54   55
22   88   87   88   85   86   86   86   86   86   87   86   87   86   84   85
23   78   77   78   78   76   77   80   79   80   81   79   80   78   79   79
24   58   54   56   58   52   55   56   52   54   52   46   49   50   44   47
25   51   46   49   49   43   46   47   39   43   44   37   41   41   38   40
26   60   56   58   60   54   57   58   53   56   60   55   58   57   54   56
27   71   71   71   70   70   70   69   66   68   65   66   66   63   65   64
28   42   38   40   44   39   42   42   36   39   39   33   36   36   32   34
29   44   38   41   44   37   41   44   37   41   40   32   36   37   31   34
30   28   28   28   25   25   25   25   25   25   23   25   24   23   29   26
31   65   69   67   66   72   69   64   69   67   59   68   64   54   63   59
32   70   72   71   67   68   68   63   65   64   57   64   61   54   57   56
33   82   82   82   81   81   81   80   81   81   79   79   79   78   78   78
34   34   31   33   33   33   33   32   32   32   30   31   31   27   32   30
35   55   55   55   54   54   54   53   53   53   49   46   48   45   48   47
36   51   56   54   50   55   53   47   51   49   41   52   47   37   47   42
37   53   50   52   54   51   53   54   49   52   52   46   49   50   44   47
38   62   64   63   62   62   62   61   60   61   57   60   59   56   58   57
39   71   75   73   71   72   72   70   71   71   71   71   71   68   72   70
40   60   56   58   60   55   58   59   54   57   58   53   56   57   53   55
41   49   58   54   46   52   49   41   46   44   35   41   38   29   36   33
42   36   35   36   39   32   36   35   28   32   29   27   28   27   26   27
43   55   50   53   58   50   54   55   47   51   52   42   47   49   43   46
44   73   72   73   71   70   71   70   68   69   67   67   67   65   67   66
45   51   46   49   52   44   48   51   42   47   48   40   44   45   40   43
46   70   69   70   70   66   68   69   65   67   65   63   64   63   62   63
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47   67   66   67   65   64   65   66   62   64   63   61   62   61   60   61
48   71   74   73   68   70   69   66   65   66   59   56   58   48   48   48
49   61   64   63   59   59   59   53   54   54   46   47   47   42   44   43
50   70   71   71   71   67   69   67   65   66   65   60   63   58   59   59

Popular wrong answers.
This table identifies the wrong answer with the most selections for each question for each group.Questi

on
Year 6 Year 7 Year 8 Year 9 Year 10
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,000

b. 100
,000

b. 100
,000

b. 100
,000

b. 100
,000

b. 100
,000

b. 100
,000

b. 100
,000

38 c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

b. 3
millio

n

c. 6
millio

n

c. 6
millio

n

b. 3
millio

n

c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

c. 6
millio

n

39 c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

c.com
puter
proce
ssors
can
work
faster
than
any

large
scale
storag

e.

40 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75 b. 75

41 d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

d. MS
Word

b. ink
scape

b. ink
scape

b. ink
scape

b. ink
scape

b. ink
scape

42 c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

c. cha
nge
for a
20p

piece.

43 b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

b. a pr
ocedu

re.

44 b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

b. link
back
to A.

(function(i,s,o,g,r,a,m){i['GoogleAnalyticsObject']=r;i[r]=i[r]||function(){ (i[r].q=i[r].q||[]).push(arguments)},i[r].l=1*new
Date();a=s.createElement(o), m=s.getElementsByTagName(o)[0];a.async=1;a.src=g;m.parentNode.insertBefore(a,m)
})(window,document,'script','//www.google-analytics.com/analytics.js','ga'); ga('create', 'UA-46896377-2', 'auto'); ga('send',
'pageview');
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45 c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

c. the
value
of the
coins

is
equal
to two
20p

coins.

46 a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

a. not
neede
d bec
ause
there
is a

check
for
10p

coins
at C.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

d. onl
y nee
ded if
the m
achin
e has
run

out of
20p

coins.

47 d. giv
e 5 x
10p

coins.

a. giv
e exa
ctly
the

right c
hange

.

a. giv
e exa
ctly
the

right c
hange

.

a. giv
e exa
ctly
the

right c
hange

.

a. giv
e exa
ctly
the

right c
hange

.

a. giv
e exa
ctly
the

right c
hange

.

d. giv
e 5 x
10p

coins.

d. giv
e 5 x
10p

coins.

d. giv
e 5 x
10p

coins.

d. giv
e 5 x
10p

coins.

d. giv
e 5 x
10p

coins.

d. giv
e 5 x
10p

coins.

d. giv
e 5 x
10p

coins.

a. giv
e exa
ctly
the

right c
hange

.

d. giv
e 5 x
10p

coins.

48 b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

b.
stop

viruse
s atta
cking
web
sites.

49 c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

c. a
way

of pro
tectin
g com
puters
from
malw
are.

50 c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.

c. ma
ke

sure a
ccoun
ts are
secur

e
when
autho
rised
and

linked
to the
user.
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